CHABOT-LAS POSITAS COMMUNITY COLLEGE DISTRICT

April 21, 2009

Agenda Item: 3.5

Subject: Professional Expert Personnel

<u>Recommended Action</u>: That the Board of Trustees approves the following Professional Expert Personnel.

I. <u>ASSIGNED TO CHABOT COLLEGE</u>

A. Employment

General

Beyne, Sara L., effective 04/22/09 – 06/30/09, \$21.69/hour, not to exceed 80 hours. (maximum = \$1,735.20) Provide skills evaluation of Emergency Medical Technician courses

Cockerham, Rudolph C., effective 04/22/09 – 06/30/09, \$190/student. Registered Nurse who will guide students through the individual care of a single patient for qualifications into the Nursing Program

Fetter, Lawrence L., effective 04/22/09 – 06/30/09, \$21.50/hour, not to exceed 12 hours/week. (maximum = \$2,838) Provide specialized programming in the Institutional Research database

Sarkar, Sujoy K., effective 03/18/09 - 06/30/09, \$25.00/hour, not to exceed 40 hours. (maximum = \$1,000)

Provide video production and tech support

Community Education

Bartlett, Luveda (nmi), effective 04/22/09 - 06/30/09, \$15.00/hour, not to exceed 75 hours. (maximum = \$1,125)

Community education instructor to assist in guitar classes

Krusemark, LeeAnne (nmi), effective 04/22/09 – 06/30/09, \$14.50/student. Community education instructor to teach business and career classes

Faust, Carol C., effective 04/22/09 – 06/30/09, \$20.00/student. Community education instructor to teach Instant Piano and Music Reading Agenda Item: 3.5 April 21, 2009 Page 2

> Tarczynski, Gregory J., effective 04/22/09 – 06/30/09, \$19.50/student. Community education instructor to teach photography classes

Tumasov, Oleg (nmi), effective 04/22/09 - 06/30/09, \$44.50/student. Community education instructor to teach art classes

II. <u>ASSIGNED TO LAS POSITAS COLLEGE</u>

A. Employment

General

Duncan, Julie L., effective 04/22/09 - 06/30/09, \$60.00/hour, not to exceed 15 hours/week. (maximum = \$14,400)

Coordinating Allied Health Program as new curriculum is introduced, securing agencies for clinical practice for students, and coordinating marketing plan

Pena-Bradford, Maria E., effective 04/22/09 - 06/30/09, \$21.00/hour, not to exceed 400 hours. (maximum = \$8,400)

Provide promotional materials and support for activities for Disabled Student Programs and Services

Shipman, Vicki (nmi), effective 04/22/09 - 06/30/09, \$75.00/hour, not to exceed 100 hours. (maximum = \$7,500)

Provide grant funding development and coordination for the Surgery Technology Program

Wong, Sebastian E., effective 05/20/09 – 06/30/09, \$3,000 flat rate. Develop paramedic curriculum and program approval documentation

Community Education

Cook, David N., effective 04/22/09 - 06/30/09, 40.00/hour, not to exceed 80 hours. (maximum =3,200)

Community education instructor to teach career and home classes

Dozier, Thomas H., effective 04/22/09 – 06/30/09, \$10.00/student. Community education instructor to teach "Clearing Out the Roost" parenting class Agenda Item: 3.5 April 21, 2009 Page 3

> Dozier, Thomas H., effective 04/22/09 – 06/30/09, \$5.00/student. Community education instructor to teach "Stop Using Coercion" and other parenting classes

Faust, Carol C., effective 04/22/09 – 06/30/09, \$20.00/student. Community education instructor to teach piano classes

Krusemark, LeeAnne (nmi), effective 04/22/09 – 06/30/09, \$15.00/student. Community education instructor to teach "Cash in" and "Publishing" classes

Krusemark, LeeAnne (nmi), effective 04/22/09 – 06/30/09, \$10.00/student. Community education instructor to teach "Word Processing" classes

Ligon, Jack (nmi), effective 04/22/09 – 06/30/09, \$40.00/hour, not to exceed 80 hours. (maximum = \$3,200) Community education instructor to teach photography, time management, and

computer classes Palmer, Angela (nmi), effective 04/22/09 – 06/30/09, \$40.00/hour, not to exceed 80

hours. (maximum = 3,200) Community education instructor to teach skin care classes

Sapsford, Paul (nmi), effective 04/22/09 – 06/30/09, \$40.00/hour, not to exceed 100 hours. (maximum = \$4,000) Community education instructor to teach wellness and soccer classes

Soriano, Carine (nmi), effective 04/22/09 - 06/30/09, \$40/hour, not to exceed 80 hours. (maximum = \$3,200) Community education instructor to teach arts and craft classes

III. ASSIGNED TO DISTRICT SERVICES

A. Employment

General

Buhowsky, Joseph A., effective 04/22/09 – 06/30/09, \$100.00/hour. Provide training to local area companies Agenda Item: 3.5 April 21, 2009 Page 4

> Schaefer, Kathleen M., effective 04/22/09 – 06/30/09, \$7,000 flat rate. Develop, write, and edit grants and competitive proposals for Economic Development

Torres, John K., effective 04/22/09 – 06/30/09, \$25.00/student. Provide training in cardiopulmonary resuscitation (CPR) and automated external defibrillator (AED)

Submitted: Mary Anne Gularte/Date

Approved: Joel L. Kinnamon/Date

_____ APPROVED

_____ DISAPPROVED

_____ TABLED